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Question 1- What approximate value will come 1n place of question mark.
T 1- % < o €A 9T STHTT | 1 ST ﬂ
66.31 + 1.98 + 39.88 x 15.77 — V675.88 =7

1)1396":_/2/1L HoX 16 - 26= X
4

A. 600

B. 547

X= 3@4 C. 490
T b4 D. 647
e E. 754

30







Question 2- What approximate value will come 1n place of

30 question mark.

T 2- T T<I§ o T W STAT HI T ST

14.95%01(199.89 #19.94% of 149.8 =x @

199.89 &1 14.95% + 149.8 &1 19.94% = x + 23.33

1 _ b A. 20
+25 \,S/o OJQOOJFQQI/'S“SO B. 27
X = 504 30-2% f)' fi

X35t y




Question 3- What approximate value will come 1n place of question

30 mark.

T 3- T T<Ig o TAT W STAT I 1 S|
23.88 + 1089.88 - 217.98 + 149.95 = 141.92+7

Gt 155

150 =149 +)

QT N A. 27
- ng i
X= 37 D. 44

— E. 7




Question 4- What approximate value will come 1n place of question

mark.

30 Er%r4-sr%ﬂ1-4@ o T U STIAT(T HI T ST

m X (299 89 + /624, 88) +1/224.99 =»
2 | 915

A= _’x 366+ A 28
e ( 25 )+ |5 *
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Question 5- What approximate value will come 1n place of question
mark.

T 5- T 1§ o T T ST A =130 3K
64.92% of &932._99 +12.88% 0f2.8=7
O 3

— Gg%gﬁoo
- 13x3 A. 10
* g =
/HX)/ D. 30
=k E 15




Question 6- A buys an article for Rs 4000 and sells 1t to be loss.
B want to earn profit so he sells 1t at 10% profit to C. If C want to make
a profit of 10% then at what price should he sell it.

o'l . . .
\&1-=) T 6- A Teh %] 3l 4000 T H EEAT § 3 3H 20% BT T si=rel 2l B
5% AT AT HHAT TATEAT & THTAY I8 3 C hl 10% ATH I s=aT gl Ife C

10% T TATH SHHTT SIS © a1 38 5H TohE o T S=T1 =Mey?

Q A. Rs 2800
§? (= %CPPX—LLxﬂ B- Rs 3872
7@ 16 C. Rs4072
= H@qx@ D. Rs 5576
= 35’%2 Pal E. None of these







Question 7- An alloy contains ratio of three metals A, B and C 3:4:7.

What quantity of C must be added to of this mixture so that this
ratio becomes 3:4:8.

ek forgr arq | 1 91q3T A, B 3R C ST UG 3:4:7 21 6 0807 < 420
foRTT ® C AT fehd1 | THeATS ST =Miey dTish I8 AT 3:4:8 Bl STw?

30

D ;q : - C A. 20 kg
[5 b 3|L1-_ 420 !éj B. 10kg
Sy )= Soky €7 30ke

D. 40kg

E. None of these







Question 8- A person has total R§ 16000,4n which he invested some

amount 1n scheme A at 20% per annum compound interest and rest at

30 15% pepannum simple interest in scheme B. At the end @rs he

recerved Rs2700 31mple interest then find what will be the interest in
scheme A at the end of 2 years.

T 8- Toh SAfth o U8 T 16000 T & FSTEH I8 AT A H 8 UIRT
RS 22007 00, anfifen wrspafi samer @ Fider 1 & it S afdr s B # 15% wfy
Rs 4200 of wrermeor savet o forarer o1 21 3 =it o6 37 S8 2700 B9 1 TR
Rs 5400 7oy 7w B3, T 2 AN o 37d H AISHT A H SIS 1 &AM

Rs 4400 —

None of these

Mo oW >




L'g%:,?-z%O CT = HH%S{(OOOO
26660
|00 7= <Fe0y (00 = e
e _ _
>

‘00°/°: 3 6oso (I[)

it 1= oo
= ?:( OG0




Question 9- The present age of A 1s 5 times of present age of B. After 5

years ratio of there age will be 5:2. Find the sum of there age after 6
years.

T 9- A 3! IAHM SATT B T SiHT ST T S THT =1 5 Y o o1 3T 6l
AT 5:2 BTN 6 AW o SIS Ieh! ST HT AN JTd hIfSY)

0 ZS(’W‘ZQS'I‘@"‘{A{‘F( )

. 25 years

@

=
| :2 +j —B7 30 years
N ) =3 ny,, C. 40 years

D. 45 years
M [S 3 ’

E. None of these
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Question 10- What will come 1n place of question mark in the given

series
30 T 10- < TS STt ¥ T g 3 T U T AT
11,0, 10, 1,9, 2, ?
F=0 1 3-3=2
A. 10
O+|0: 2+ =
© G_: B. 13
0-9= | C. 15
E. None of these




Question 11- What will come 1n place of question mark in the given

series

30 T4 11- & 7S SiEett ° g g o T O T S
20, 20, 40, 120, 480, ?
X[ ¥ X}y XY
A. 1200
480 XS5= Qo
B. 3600
€ 2400
D. 4400

E. None of these




Question 12- What will come 1n place of question mark in the given

SCT1CS
30 T 12- 3 TS JTAT H 95 g o T ORI AT
-285, -85, 7,465, 815, 1215
S )
-%06350 ~Hoo
_Lgs_ 7o A. 125
3 B. 165
N ,/—G_E C. 211
D. 310
E. None of these




Question 13- What will come 1n place of question mark in the given

series
30 T 13- & TS ot § 9 g 3 T O T ST

10,9, 16, 45, 176, ?

Jovi4=9 | [6x5-5= §80-5
3XQ~Q: [e = &:‘[S A. 175
—  B. 275
- el
RIS RVES D. 675
Hﬁ | E. None of these




The pie chart given below the percent/number of article sold by five different

person.

TS =TS il S-S Skl ST S TS S oh TTcrTa/HedT o =<l foam T
2l

<

S«







Question 14- Find the number of article sold by person P and Q.

T 14- itk P 3T Q RISl TS g3l shl T&AT J1d shiTsiy)

A 1640
B. 1240
C. 1440
D. 1540
E. None of these

S OT







Question 15- The ratio of costly and cheap article by P 1s 3:5.
Then find costly article sold by &.F P
T 15- P S HEHT ST G &g T ST 3:5 2| T & R o= T3

30 HETT &g 1T hITSTY A. 1640

B. 1240
C. 1440
D. 1540
_ENone of these

Q @R ms OT

https://t.me/mathbytarunsirmepl Q







Question 16- The price of each book sold by T 1s Rs 300. Then
find the revenue received by selling 80% of books.

T 16- T ENT Sl 715 Tedeh T&Teh T 99 300 &9 2 T 80%
30 TEToh] ol sI<Ieht ITH TST Tl 2hi 1573l|

A.1640
B. 1240
C. 1440
D. 1540
—E. None of these

S OT

https://t.me/mathbytarunsirmepl Q







Question 17- Find the difference between article sold by person

R and S together and average number of books sold by all

person.

T 17- feh R 3R S I Teh |1 o=t T5 S ST @l sAihal g

0 o=t 775 TECeh! shi S{TEd HEA] o sl shl ST J1d shifSTT)
Lowo

A.700

BR800

C. 600

D.500

E. None of these

https://t.me/mathbytarunsirmepl Q
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Question 18- If person S sells 30% more books than @ then find

average number of books sold by Q, R and S.
T 18- Il Al S,E‘?ﬁgﬂmﬁ 30% 3ereh Tedeh =il @, 1 Q,
30 R 3T S GRT sl T8 T&dehi ohl SHd AT T hifsT|

A.714.66

B.467.22

C. 826.66

D. 888.66
_E-None of these

QmER OS OT

https://t.me/mathbytarunsirmepl Q







Question 19- If person X and Y sells 40% and 80% of the books
&® in Q and T respectively. Then find ratio of books sold by X

and Y.
T 19- Fie Ak X XY Q I T H Il 7T T&shi 1 5hHT: 40%

30 I 80% si=rd &1 a1 X 3R Y RIS TS Tedshi hT ST HTd
Fifer
« A.19:37
B 21:38
C.11:38
\ D.13:38
% E. None of these

S T

https://t.me/mathbytarunsirmepl 9







Question 20- Number of article sold by Q is what percent of

article sold by S.
T 20- Q S ST 7T &SI shi G, S R =il T3 & oAl fehal

7 = My
> L(OUD
A.70%
B77.7%
C.45%
D.56%
@ E. None of these

T
https://t.me/mathbytarunsirmepl
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